| Residuals cm vs slope |

res_slope_R

Entries

0.2

0.15

0.1

0.05

-0.15

=)
IIII|IIII|IIII|_III.I_lIII_<_I|III'I|IIII|IIII

Mean x

2350
-0.1197

Meany -0.004605

0217708 .06 -04 -02

0 02 04

0.6 0.8

1

| Residuals cm vs slope |

res_slope_L

Entries 2333

0.2

0.15

0.1

!ll‘ll!ll-llllllll

0.05

-0.15

Mean x -0.1065

Meany 0.003203

:l||||||||||||.|v||||||||||
021770806 -04 -02 -0 O.

0.6 08 1

0.4

2

| Residuals cm vs slope || res_slope_R_py
_ Entries 2350
300~ Mean -0.004599
B X2/ ndf 42.48 /20
250 Prob 0.002396
B c1 2436+ 8.9
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Mean 0.003225
X2 [ ndf 67.69 /20
Prob 4.323e-07
C1 230.7+8.5
Mean (cm)  4.33e-05 + 6.46e-04
Sigma (cm) 0.02233 + 0.00076
p3 15.35+ 1.43
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